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O 9k =359 /=& A it

O 9= =0|& &7 st

O 9= &% CHHAEZS A oot

2. Ltk MO0 120 m*Ql AR MO 22 LHYg si2{n oot GEAHX[$T7L 150 keal/m*h ¥ Of,
HY RSt keal/h)2t WE7| 22 ZEE FoHAR. (T LE7|9 HETF2 #ELE S5t F T Ud
HH2 0.2m?0|CL)

b ot ogb 2o GHEMHA  HAMX| = 120 x 150 = 18,000 ( kca/h)
Lt &tH7] Z4: { 18000 / (450 x 0.2) } = 200 (&)

3. Hi2tAlof Z2l= stE52 floA 2o 2A X[X|st= HX|Q #He| FFRE 371X MA|2,

O 2z=Zd dA O 2IXE A O ZAEE WA

4, 2ttdrol M HYF, WA 9 i S HX| Lo A= MFTHEKE)0| 1000 kgo|1, HEZHE
$#2)0| 4000 kg ¥ 0, O] LHUEX|E 0| SI= O HRsH 0| B RSt (kca)E ToHA 2.

(Tt 22| H[¥ 1 kcal/kg°C, H2| H[E 0.12 kcal/kg°C, 2HA|2] 2E2| HH#2EK 80°C, 2T7|A| He|
£9| &% 5°C 0|C})

O AAIFE - {4000 x 012 x (80 -5)} + {1000 x 1 x (80 —5)} = 111,000 [kecal]

5. 27|Lf2] offH 7tA9| U=0| 6 kgy/em? HH 50L, 2= 5C O, 0 7tATL MEfHSIE Uo7l
T Y=0| 6 kg/em? 27} 35°CE HIME AL, HEDE FoHA2.

O AL - 35°C A =0°C MAE + {0°C MAE x (35/273)}

0°C HE25°C ¢ [[H X &0l 50 L 01|A1 T = MEr.

<50 =0°CHXN +(0°CHMHx(5/273))..0°CHE™ ((273 x50) /278 ) = 49.1 L>
[h2kA. 35°C A = 49.1 + (491 x (35/273)) = 5539 L
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